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(Bif: /)
® B WEMTPHE| WEHE |WHERTEHE| 8B R % =
(1) ZMERNEF 59,204,000 0| 59,204,000 0
= 1,000,000 1,000,000 0
BEE 16,464,000 16,464,000 0
15STAETR MDD EEE 41,740,000 41,740,000 0
2) REBXNBULBEZE) 2,473,000 2,462,000 4935000  2,462,000|f" Fh BT IR LB 2000000
Q) ZM=#H 3,250,000 3,250,000 0
(4) HANEE 100,000 200,000 300,000 200,000
ZEFIR 1,000 27,000 28,000 27,000|FE&F B 01
eV 99,000 173000 272,000 173,000| SR KO SRR ERIROMADR
BEmEEt O 65,027,000 2,662,000| 67,689,000 2,662,000
2 XHOM@EEER)
(Bifig: /)
¥ B WEMTHLE| WEHE |WHERTEE| # 8 % =
S
(1) Za—Y—)XLfEESE 9463000 2,740,000/ 12,203,000/ 2,740,000
B8 100,000 A 70,000 30,000{ A 70,000|#7 RAHIZE B
REXBE 800,000 300,000/ 1,100,000 300,000 @5 Ese - £ — L REDOREDH
BIEERE 80,000 80,000 0
HERE 100,000 100,000 0
LEERE 1,610,000 320000  1930,000]  320,000|% 5 EE RAT) BN
ENfmI A E 50,000 200,000 250,000 200,000 |h/$ A B BERIZICHBERZE DS
BfEH 50,000 A 30,000 20,000{ A 30,000|#7RAHIZEBHE
BRERH 0 20,000 20,000 20,000 [ZAFHR L L ASISRSEME
HHE 33,000 33,000 0
HARARE 10,000 10,000 0
B 6,580,000 2,000,000 8,580,000  2,000,000|VEIX LT S T
HE 30,000 30,000 0
XILFHH 20,000 20,000 0
NE 9,463,000 2,740,000/ 12,203,000/ 2,740,000




(BGL:F)

# B WEMPELE| HEHE |(BHERTHESE| 8B & % =
(2) BIHDXHEEE X 6,140,000 200,000( 6,340,000 200,000
2EE 50,000 50,000 0
REZBE 100,000 100,000 0
BIEERE 50,000 50,000 0
HERE 50,000 50,000 0
LEEEE 0 100,000 100,000 100,000| g DY EBRE=S—BRIRD
SR - 50,000 50,000 0
E-E i 800,000 800,000 0
HARMARE 10,000 10,000 0
RitE 5,000,000 100,000{ 5,100,000 100,000| ESZ WA v A~ BREOZE
HE 20,000 20,000 0
XHFEH 10,000 10,000 0
&t 6,140,000 200,000/ 6,340,000 200,000
(3) KB - AP A 1R E R % 2,640,000 430,000 3,070,000 430,000
REZEE 0 160,000( 160,000 160,000(F s o 177V T T THBISR
BIEERE 50,000 50,000 0
HERE 50,000 50,000 0
hEERE 0 50,000 50,000 50,000 { i M
- FoiE 0 220000  220000(  220,000| AT LTI BRI
ARARE 10,000 10,000 0
EitE 2,500,000 2,500,000 0
HE 20,000 20,000 0
XIFEH 10,000 10,000 0
&t 2,640,000 430,000/ 3,070,000 430,000
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# B WEMTPHE| WHEHE |WHERTEHE| # 8 % =
4) ZDMa TV ERMESE 1,960,000 A 100,000{ 1,860,000 A 100,000
REE 50,000 A 50,000 0| A 50,000 87 RABIZEBH
REZBE 1,000,000 1,000,000 0
BIEERE 20,000 20,000 0
HERE 50,000 50,000 0
LEEEE 50,000 50,000/ 100,000 50,000| B2 77/ EARLEE SRR
SR - 20,000 20,000 0
EfgH 50,000 50,000 0
R 80,000 80,000 0
HBAR 50,000 50,000 0
BHlE 100,000 100,000 0
E£tE 450,000/ A 100,000 350,000{ A 100,000 |$4{7 RAHIZ & B
#E 30,000 30,000 0
XIFEHH 10,000 10,000 0
&t 1,960,000/ A 100,000/ 1,860,000 A 100,000
(5) YEITFANERRRRAMBEREZE | 10,410,000] A 3,070,000{ 7,340,000 A 3,070,000
E 100,000 100,000 0
REXBE 200,000 A 70,000 130,000( A 70,000|#7 RAHI= & B
BIEERE 30,000 30,000 0
HERE 70,000 70,000 0
LEERE 1,200,000/ A 100,000/ 1,100,000 A 100,000 [#47 R:AHI=& 5
ENmI S A E 30,000 30,000 0
EfEH 50,000 50,000 0
HHE 250,000 250,000 0
X B E 3,000,000{ A 1,400,000{ 1,600,000 A 1,400,000 |78 AHI=&25H
ARAR 30,000 30,000 0
EZiE 5,400,000{ A 1,500,000{ 3,900,000 A 1,500,000 |78 AHI=& 25
HE 30,000 30,000 0
XILFHH 20,000 20,000 0
&t 10,410,000/ A 3,070,000/ 7,340,000 A 3,070,000
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# B WEMTPHE| WHEHE |WHERTEHE| # 8 % =
(6) REFEUEEX) 2,474,000 2,462,000 4,936,000 2,462,000
7 TR Y R 200,000 0 200,000 0
REZBE 80,000 80,000 0
HERE 20,000 20,000 0
LEERE 100,000 100,000 0
BILESERAAHAESE 474,000 0 474,000 0
REXBE 100,000 100,000 0
BIEERE 70,000 70,000 0
HERE 84,000 84,000 0
ENm A E 220,000 220,000 0
EEXIL-ait-WERKIEEE| 1,800,000 0| 1,800,000 0
REZBE 100,000 100,000 0
HERE 100,000 100,000 0
EitE 1,600,000 1,600,000 0
AURHUREETOE—avEE 0|  2,000000( 2,000000[ 2,000,000
HEAE 100000  100,000( 100,000 EMEIMI=ELEISNOSBAY
LEERE 1,800,000{  1,800,000( 1,800,000 "
EfEH 100,000 100,000 100,000 "
BIE LR EMFAESE X 0 462,000 462,000 462,000
REXEE 250000 250,000  250,000|B,ARECHIIEE BREOE
BIEERE 62,000 62,000 62,000 "
HERE 100,000 100,000 100,000 "
BfEH 50,000 50,000 50,000 "
L3 2474000 2,462,000 4,936,000 2,462,000
N 3 - 33,087,000/ 2,662,000 35,749,000 2,662,000
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# B WEMTHE| WHEHE |HEATHEE| B R % =
TRE
(7) EHE 31,940,000 0| 31,940,000 0
& E R 6,100,000 6,100,000 0
EEEEESE 9,520,000 400,000| 9,920,000 400,000 |5 ESILLHIBBRER DM
EERAE 5,550,000 5,550,000 0
BIELE 30,000 30,000 0
ESE 150,000 A 58,000 92,000/ A 58,000|#{TR2ADH
REXBE 300,000 300,000 0
BIEERE 600,000 600,000 0
HEMHRERE 100,000 100,000 0
HEMRE 500,000 A 150,000 350,000 A 150,000 |#i7 RADHE
LEERE 80,000 80,000 0
ENfm A E 48,000 48,000 0
FEREE 42,000 8,000 50,000 8,000 |#RIREE D18
SEOKHE 300,000 300,000 0
BInEEE 140,000 140,000 0
EfEH 3,000,000 3,000,000 0
R 200,000 200,000 0
HHE 30,000 30,000 0
BmAR 100,000 100,000 0
HEE 500,000 500,000 0
S BN 400,000 400,000 0
XILFHH 50,000 50,000 0
EitE 4,000,000] A 200,000/ 3,800,000| A 200,000 |#f7R2ADH
RERE 20,000 20,000 0
XIFIE 80,000 80,000 0
HE 50,000 50,000 0
FiEE 50,000 50,000 0
&t 31,940,000 0| 31,940,000 0
& B & G 31,940,000 0| 31,940,000 0
BEER © 65,027,000 2,662,000| 67,689,000 2,662,000
LA ERE O-0Q 0 0 0 0




3 RESMEBDE

(Efi:M)
N = WEMTPHE| HEE |WHERTHEESE| & 6 5 =
(1) FEHRE
BE & EZER 0 0 0
BENMRIEEFO 0 0 0
(2 BENER 0 0 0
BRENERT® 0 0 0
LERENEHE -0 0 0 0
L 2 —fi% IE DR BA EE R R AE 0 0 0 0
—RIEKRBMEHEERS 24,409,716 0| 24,409,716 0
—RIERMERRES 24,409,716 0| 24,409,716 0
4 FETEERRBAEIZR DA
(Efi1:M)
# B LEETHE| MWHEE |(MEETHESE| B R # =
L H1E E IE R BA EE G R AE 0 0 0 0
EEERMEHNERS 0 0 0 0
EEERMESRES 0 0 0 0
5 EEEBDE
(B )
# B LUEEFHE| WIEE |(WEETEESE| B R w =
HE&ZAE 0 0 0
LEE SR 0 0 0
AEHEES 15,000,000 0| 15,000,000 0
EEHRES 15,000,000 0| 15,000,000 0
KRB ERARES 39,409,716 0| 39,409,716 0
IEPEICHRSER
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